EARAZROREIERT — 2 N—XBISY —F 2015548228 (/) 1[EIF5I11H

mitil-ﬁ #5%R3mMOP ‘ (%] m ‘ [mm]  — | 4 (%) 16000 B
[x&<£] 1 % :3,000,000 § ~ 23 :600,000 @ ~ 37 :450,000 @ ~ 4 3 :300,000 M ~ 5 7 :150,000 M
B BB RESB MK HE BF (F8) 4L (&%) | BBIEG | EOF |SIEH | AR | HE | NG FIR) / BE / £EHS
N BREF 41, -1-1- . — EZFEA (deimE)
11719 FTY3EAH "3 56.0_7_ 1(‘&)4 L 1 5212) FRKIER o
LY LTAN—b BFAHHVET K B
3 4 3 | BRERE 1:42.9 3-1-2-2 | 40.8| — 2 448 | BHEE] (ILiEE)
2 7|¥—78L4 56.0 @) (3) | AAMRAIR .
L:A—LisFLsa #B:xo-—1 4 405
S e G R : -10-9- — BIFR (eiE)
3 NEZIN-EPT it 3 e 1.(4133.1 10-10-9-6 | 39.1 3 ;1_5;0) ia?v ZE]
R:BALINT Ry IX BTL—41F LN Ee]
N . EBEZ ; -3-3~ - HPE= (AtiEsE)
41811 JRYgYy—> # 3 566.0 (12.413/.26) 2-3-3-3 | 40.7 6 (4;4) e B8
R:aAFS 0 ML BYLF—3 v F— HEIHS
S = - 4 3 | BIAREE 1:44.5 4-4-4-4 | 41.4| — 9 428 | AIIFH (dtimE)
5/7|8|*A7T7 7 54.0 (4) -3) | .A) ¥ﬁ£t772L\
R:7T2743IVF—- B:I-J-XXH HET7— L
RN EFA 144, -8-8- . — AllFH (deE)
6l111|T7EXRb=VU— I 56.0 1(34/[2)6 e |40 ’ (:;2) it e
EILTIVRR BARCRTY-IT M BBA
o> N BREE 144, -6-6- . - EHRAW (AtimE
71810/ /¥yan>z v 4 R 1(14,42>7 oo a3 ! :g) mHEE
R:2g—)rJ0-X BIAYCFKRIE AR EER
= A& : -5-5- - KA (tmE)
8l5l5| 7Y/ Hn510 H 3 2l (11.415/.20) 4-5-5-8 | 41.7 4 (5;4) ol e
R:ZgY—>b—O— B:hIIG1H A —8l
R . AELH .45, —6-7- . — NgFEN (imE
o NP >3 M 1(34/52)2 7-6-7-8 | 41.6 5 ;1_438) e 2t
R:T97274— BT %— =E R
>N 3 | BAHE 1:45.6 11-11-10-10| 41. — 11 476 | BT (AtiEE)
10ff 6| 7~"~NT " 56.0 @ 010) 418 (+1i> EarEy
LRy —N— 850y EAAR *EX
S # 3 | FETS 1:45.6 9-9-11-11 | 41.0| — 10 | 468 |EARHE (LiEE)
11 4| BTN 56.0 (7€) (-8) JﬁDﬁEEE .
R:BALINT Ry TR B:YIHNTFR =R77—A4
@ 1 — S —EBlIEf
13—7+— 9,11,7,(5,8,10),3,1,4,2,6
2= = (7,9),11,8,5,(3,10),1,4,2,6
Gal=5r= 9,7,11,8,5,10,3,1,2,6,4
43—7+— |9,7,11,8,10,(1,2),(3,5),6,4
[ /N
BB 9 140 74K 7-9 170H & 6-7 290M & 2-7-9 450M
# B 9 1004 2-9 210M B = 7-9 270M K31 9-7-2 1,090M
7 110M 2-7 20| | B 9-7 470M
2 130

ABICOVWTRDTEEERROODE. TR LIV,



